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1. ot See - 1x8=8
Answer as directed :
(@) 2% IEF QRIS OYF @A |
Data collected for the first time are called
data.
(4TeN 3% (79 1)

(Fill in the blank])



(b) e s «br epjfRyr TeEy 30|

Mention one disadvantage of census
method.

(c) TS owmy Ie fdfy FI[ At faid |
Write the formula for finding mode. from

a grouped distribution.

(d) =3 Reew (sfeme 4 279 R |

Standard deviation can “never be
negative.

(W= / Sem fo131)
(Write True / False)
(e) oI &2 TN aAfcer {1 Pim e I—

“An index number satisfies time reversal
test if—

(i) Foy XxFor=1

(i) FPog X Po =1

(@) Bo x Fo =1

(iv) 87T GbI8 I
None of the above

(e TeIo1 1fR Tferean)

(Choose the correct answer)

() R SR [T SIRE QNS Ay 3w

Determine the coefficient of range for the
following distribution :

X : 0-10 10-20 20-30 3040 40-50
f :+ 5 15 115 50 65



(g) I €Ol IATYT TCEY Fq0 |

Mention one use of interpolation.

(h) SP% WY A 33
Index number measures
(i) SON &
National Income
(fi) SRR TS
Cost of living
(iii) IR TeoAmw
Agricultural production
(iv) WsR =9
Rate of employment

(W TeaCh! 9 Sfeean)

(Choose the correct answer)

2. @l f @ BRBR 5 G foran 4x4=16

Write shortnotes.on any four of the following :

(D) BTSN

Geometric mean

(© Resom o[y o Seafee T4

Absolute and relative measure of
dispersion



(d) v s 3@

Fisher’s ideal index

(e) (M O |
Secondary data

3. (@) R Rewe e o o PRy [ems
TS SF SIS TFCH ey $41 1 3+8=11

Define Statistics. Discuss the uses and
abuses of statistics.

<l /Or

(b) e Fferce i ga 2 SEpE W AeelfeeE
TES (PR AL, (2?7 O 2o
IEICS T PRAGAE 7T IACP2O! S
*q1 | 2+3+6=11
What do you mean by questionnaire?
What. is the difference between a

questionnaire and a schedule? State the

essential points to be noted in drafting a
questionnaire.

4. (q) iy e G & 001 Ny o S
- @R NEF A2 SCHY 4] | 2+9=11

Define mean and median. State their
merits, demerits and uses. |



%<1 / Or
(b) TS Tl SUPTRI {1 TIE Y W AR
fadfy <41 : 6+5=11

Calculate arithmetic mean and median
from the following data :

LIE] | 0-5 | 5-10 | 10-15|15-20|20-2525-30
Income

RERIEN S 7 10 8 6 4
Frequency

(@) ResaR o o & 3w e Rewerr [fen
Toemz o 7 e Rodae ke W
SRR TrEy 91 | 2+3+6=11

What do you mean by measures of
dispersion? What are the different
measures of dispersion? Mention the
merits and. ' demerits of standard

deviation.
24T /Or
(b) TS TSR AT oG fve AT w4 11

Calculate mean deviation from the
following data :

el 0-10 | 10-20 | 20-30 | 3040
Class

KT
Frequency

oI 40-50 50-60 60-70 .
Class

EIEASIE
Frequency

7 L2 18 25

16 14 8




6. (@) PIT TF @ALA? WE (SIH FECS T
RN AT 11 P41 | 2+9=11
What is index number? Explain the

various problems of constructing an
index number.

&2<qT /Or

(b) =R O AT fefee (i) o= o «i) T2
S A A IR 2015 bod AT Fo PIIE
g =41 . 5+6=11

Calculate price index number for
the year 2015 by wsing (i) Paasche’s
method and (i) Fisher’s ideal index
method from the following data :

offa51 / Quantity

. 4§ / Price
77 / Goods
2015 2010 2015 2010
A 40 20 6 8
B 6O 50 S 10
C S0 40 15 15
D 20 20 25 20

7.

(@) SEEE I @07 WA [fon iz

*ql

2+10=12

What is interpolation? Explain the

different methods of interpolation.



o741

/Or

(b) TR SIS T A e SR fiel SR |
Ao TS A IR 12 I TP
ﬁ@ﬁ'@Wﬁ‘ﬁW

12
The following table gives the expectation
of life at different ages. Calculate the
expected life at age 12 by using Newton’s
forward interpolation formula :
b 10 15 20 25 30 35
Age
ATCICHLT | 354 | 32:2 | 201 260 | 231 | 204
Expectation of life

* K

*




